Ve AL R
Y | SR A B R e

2022 4£5 B
SERUSERT

SHNAVERORRIR > BAERFETI Ea e

,
BgE

. 55
A 5 A5 e B B R A
SAYERTECEGS - DU ESE - a0 R R E A TR R 22
Il ERIEEERAER
V5 e e PR A I 55 A E AR JH e AR 2 R BERUE . » N aeA DUEAE R - BltE
{EVEAE ~ AF ~ BEFIBF BB R ARS8 SEFH VS T o VB IRE P BR 22 0 TfEfRa%
MiZE B E » WA S IRIEIEAE -
AR E R B B SEAREE N 240 o MRORIRE SO HPRZE R 5 2 e i A
B4 o Ioh - B RIE T B4 B BV 5 R 240 (W R RN S s8R vl ge IR A s

A
K
HSHHENR > (FEHEE L5 EE(LE -
20224E5 H > = {EAE(LIEAE - AFRIBRM{EE(ED -
SRR RPN R TR SEEY MR o FrAdHECsk A a2 n Ehapr iR (A B
> A BRI REEH B B2 R R S T E B SR e E TR

SR AERRATE B RAR e A R A% EE

[REAVEHRIZE -



Ve AL R

EFRAS R H S
2022 &£ 5 H
Y& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.002 - 0.026 0.006 &
LA i 1.512 0.000 - 0.455 0.088 =
/L4, (HCI) 4,545 0.056 - 0.268 0.169 =
mIbE (HF) 0.306 0.000 - 0.093 0.034 =
— &b (SO2) 15.147 0.000 - 8.348 2.725 =
—4&bi% (CO) 7.578 0.000 - 0.272 0.125 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.552 - 7.561 2.166 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.004 - 0.008 0.006 &
LA 0.756 0.015 - 0.156 0.088 =
Z/LE (HCI) 0.756 0.129 - 0.215 0.169 s
wAbE (HF) 0.072 0.010 - 0.053 0.034 s
&R (SO2) 3.789 1.977 - 3.323 2.722 =
—&Ei% (CO) 3.789 0.024 - 0.245 0.126 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.194 - 5.481 2.166 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0004 =
S SE VAR 0.003789 <0.0014 =
R A 0.0378 <0.0065 &
IR R g ) 7.575 x 10°° <7.085 x 1020 &
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EFRAS R H S
2022 &£ 5 H
Y& AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.315 0.005 &
LA i 1.512 0.000 - 0.389 0.077 =
/L4, (HCI) 4,545 0.000 - 0.333 0.135 =
mIbE (HF) 0.306 0.007 - 0.110 0.039 =
— &b (SO2) 15.147 0.333 - 6.645 2.700 =
—4& kbR (CO) 7.578 0.001 - 0.175 0.034 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.298 - 7.987 1.290 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.003 - 0.017 0.005 &
LA 0.756 0.017 - 0.165 0.077 =
Z/LE (HCI) 0.756 0.015 - 0.292 0.135 s
wAbE (HF) 0.072 0.019 - 0.063 0.039 s
— &b (SO2) 3.789 2.426 - 3.043 2.703 =
—&Ei% (CO) 3.789 0.004 - 0.115 0.034 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.724 - 2.355 1.295 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0048 &
IR R g ) 7.575 x 10°° <5.395 x 1020 &
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2022 &£ 5 H
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.004 - 0.280 0.010 &
LA i 1.512 0.022 - 1.182 0.125 =
Z/LE (HCD 4,545 0.079 - 0.312 0.207 TE
mIbE (HF) 0.306 0.013 - 0.099 0.052 s
— &b (SO2) 15.147 0.001 - 8.377 2.658 =
—4&bi% (CO) 7.578 0.001 - 0.149 0.052 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.930 - 10.454 2.491 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.006 - 0.019 0.010 &
HEA T 0.756 0.055 - 0.252 0.125 =
/L4, (HCD 0.756 0.128 - 0.260 0.207 =
wAbE (HF) 0.072 0.040 - 0.060 0.052 s
—&AbiR (SO2) 3.789 1.675 - 3.383 2.668 =
—&Ei% (CO) 3.789 0.027 - 0.073 0.052 =
HAY (NOx)
DL E/EE (NOY) 15.147 1.525 - 3.669 2.482 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0058 &
IR R g ) 7.575 x 107 <6.499 x 1020 &
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